CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM5345

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-eo
1 20340060130 Haknagka pykoAaTku 1 11 70520220130 HuKHAA paboyas pyKoATKa 1
2 70550100130 Pblyar BkAtoyeHms xoaa 1 12 60110040000 Bont M8x50 2
3 70500232130 BepxHAs paboyan pykosTKa 1 13 60200470000 LWaiba 6
4 70540083780 Pblyar Bbiknto4eHMA geuratena 1 14 20040070780 laliKa KpenneHusa BepxHen 2
PYKOATKM
5 20030030000 OrpaHunyMTenb pblyara 1 15 60140080000 Maiika M8 4
6 70050120000 KpoHLTelMH KpenaeHns TPOCoB 1 16 20240020000 dukcatop Tpocos 1
7 60060590000 Bont M6x30 2 17 | 60040140000 Bont M8x32 2
8 70780080000 Tpoc BKAtOYEHMA X042 1 18 60110030000 bont M8x45 2
9 70810040000 Tpoc BbIKAOYEHMA ABUraTeNa 1 19 20350010000 3arnyLwKka pyKoAaTKu 2
10 70230090000 Ckoba KpenneHusa pyykmu ctaptepa 1 20 20040050780 lalKa KpenneHUsa HUXKHEN PYKOATKM 2




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogens: LM5345

Ne Ne K-Bo
ApTUKYN HanmeHoBaHue K-Bo ApTUKYN HanmeHoBaHue
1 70740310130 Kopnyc (aeka) 1 14 20460030000 lalKa KpenaeHua wTyuepa 1
2 20460010000 LUTyuep Ana NogKAOYEeHUA WwaaHra 1 15 20200040000 MNepeaHAa HakNa4Ka AeKu 1
3 60370020000 YNnoTHUTENbHOE KOJIbL,O 1 16 70450030130 bamnep 1
4 20590020000 BTynka Tpoca xoaa 1 17 20110030000 Hanpasnstowan 6okoBoro Bbibpoca 1
5 20390010000 3a4HAA HAaKNaaKa AeKn 1 18 20120060000 KpblwKa oTceka BbIbpoca Tpasbl 1
6 70070110130 JleBbili KPOHLUTEMH AEKMN 1 19 70060050130 KpOHLUTENH KpenneHua KpbILLKK 1
7 20160060000 3arnywkKka gexku 1 20 60380600000 Mpy»KMHa 3aLwenku 1
8 20400060000 3a4HAA NneperopoaKa Aeku 1 21 60200580000 MpoKknagka 1
9 70270010000 MnactuHa neperopoaku 1 22 20490090000 DUKCATOP KPbILKK 1
10 20750040000 3awmTa oT Nblan 1 23 20650200000 Kopnyc ¢uKkcatopa 1
11 70330010000 MnacTuHa KpenneHua 3aWnTbl 1 24 60390060000 Mpy*WHa KpbILWKK 6OKOBOTO 1
Bblbpoca
12 70180380000 TAara pblyara perysmpoBKM BbICOTbI 1 25 70030060000 Ocb NpyXuHbI 1
Konec
13 60410080000 MpyKnHa TArN 1 26 70070530130 MpaBblil KPOHLUTENH AEKM 1




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM5345

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80
1 20260010780 | PykoaTka pblyara peryanmposku 1 18 | 60320020000 PemeHb 750Li 1
BbICOTbI KONleC
2 70850670000 | Ocb 3agHUX KOnec 1 19 70050230000 OrpaHu4nTenb pemHs 1
3 60300030000 | WnauHT 1 20 60410670000 Mpy*KnHa PpuKcaumm peayKTopa 1
4 60200090000 | LLaiba 13x39,3x1 2 21 70290070000 MnaTta KpenneHua peaykTopa 1
5 20610060000 | BHyTpeHHMI KONNaK 3af4Hero KoJseca 2 22 20660070000 KoxXyx pemHs 1
6 20880152000 | 3amHee Koneco 2 23 | 70131130000 Hox 1
7 60150090000 | lalika M8 4 24 | 70040070000 Lati6a HoKa 1
8 20620100230 | HapyHbli1 KoANak 3agHero Koseca 2 25 60100020000 Bont 3/8-24UNF-2Bx35/10.9 1
9 60240060000 | MpyXKHHanA waiba 6 26 70140460000 AganTtep HoXa 1
10 21070040000 | LWariba 4 27 20620090230 Hapy»kHbIi Koainak Koneca 2
11 70300200000 | LlectepHa npuBoaa nesoro Koneca R 1 28 20880172000 MNepenHee Koneco 2
12 20430140000 | Btynka Bana peaykTopa 2 29 20610070000 BHYTpeHHUI Koanak Koaeca 2
13 | 20430030060 | Brynka Bana pegyKktopa 1 30 | 60200030000 LWaiba 2
/2043003044

14 60290070000 | LUTndT wectepHU Konec 1 31 70840120000 Ocb nepeaHnx Konec 1
15 70860400000 | Pepyktop 1 32 70470010000 KpoHLITeNH KpenneHusa ocu 1
16 70300190000 | LlectepHa npuBoaa npaBoro Koneca L 1 33 70470020000 KpOHLITeMH KpenaeHus ocu 1
17 70290050000 | MnaTta KpensieHMA peayKTopa 1




CrampPron

Power & force MANOCTPMPOBaHHbIM KaTasor 3anNacHbIX YacTel

Mogens: LM5345

4—

&5

Ne Ne K-Bo
ApTUKYN HanmeHoBaHue K-8o ApTUKYN HanmeHoBaHWe
1 70020030000 | PamKa TpaBOCb6OpHUMKA 1 5 20060010000 MHAWKATOP Hano/HEeHUA 1
TpaBOCHOPHUKA
2 20070030032 | HuKHAA YacTb TPaBoCcbOpPHMKa 1 6 20380050000 KpblLwKa oTceka TpaBoCOopHUKA 1
3 20080030000 | BepxHnas yacTb TpaBOCOOPHUKA 1 7 60380140000 Mpy*KnHa 1
4 20710010000 | HaknazKka pyKoOATKW TpaBOCOOPHUKA 1 8 70030040000 Ocb KpenneHuna KpblLKn 1




CrampPron

Power & force

MI'IJTI-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogens: LM5345

Osuratenb T680 V=196 cm3 ¢

Ne04091700876
Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-eo
1 20740100110 | [deKopaTuBHaA HaK/iagKa 1 6 60140050000 lalika M14x1,5 1
2 60130020000 | ratika M6 3 7 75210020000 CTakaH MaxoBuKa 1
3 25190120000 | Kpbiwka asuratens 1 8 25040120000 Kpblab4aTKa MaxoBuKa 1
4 75430110000 | Craptep B cbope 1 9 75390030000 MaxoBuk 1
5 25010170000 | Koxxyx maxoBuKa 1




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM5345

Osuratenb T680 V=196 cm3 ¢
Ne04091700876

3 »
3
Ne Ne K-Bo
ApTUKYN HanmeHoBaHue K-8o ApTUKYN HanmeHoBaHue

1 75500100000 | Kaptep 196 cm? 1 20 25160020000 TonnusHbIN wnaHr 335-340 mm 1
2 75370032000 | MarHeTto 1 21 60230010000 XomyT wnaHra 1
3 60080240000 | LWnunbKa Kpennexus 1 22 25010190000 dnaxoK TArv KapbtopaTopa 1

MarHeTo/KpblLUKKN ABUraTens
4 75050020000 | Btynka 3 23 75030070000 MnactuHa 1
5 75030020000 | BosagyxoHanpasnatoLllaa NAacTUHa 1 24 25030030000 LWnaHr canyHa 165 mm 1
6 60080230000 | LUnuabKa KpenneHUs KpbIWwKK 1 25 75380500000 BbikntoyaTenb aAguratens ¢ 1

ABuratens MEeXaHNU3MOM TODMO3a
7 75110010000 | Kpblwka canyHa 1 26 75290010000 Ban perynatopa o6opoTos 1
8 75720160000 | MpoKnaaka KpbIWKK 1 27 60200140000 LWaiba 1
9 75100030000 | KnanaH canyHa 1 28 60360080000 CanbHuK 6x11x4 1
10 75150010000 | MacnooTpaxaTenb 1 29 60300040000 WnanHt 1
11 60080220000 | LUnuabKa KpenneHUsa KpbIWKn 1 30 60410050000 MpyXuHa TArm 1

ABuratens
12 75330060000 | KpoHwTeiH KpenieHua 6aka 1 31 75160030000 TAra pblyara perynatopa o060poToB 1
13 25310030000 | YnopHbii 6ydep 2 32 75070030000 Pbluar perynatopa o6opoTos 1
14 60240250000 | Btynka 1 33 60140020000 Maka M6 1




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM5345

15 | 25180210000 | Bak TONAUBHbIN 1 34 | 60060730000 Bont M6x23

16 25170100110 | NpobKa TonaMBHOro 6aKa 1 35 71160010000 MaHenb pblyara perynatopa
17 60440340000 | KnanaH canyHa 1 36 60410640000 MpyKnHa

18 170010017- TonnusHbIN GUNbTP 1 37 60450010000 [JepkaTtenb npoBoaa

19 60230020000 | XomyT wnaHra 1 38 75360010000 KpoHwTeiH




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM5345

Osuratens T680 V=196 cm3 ¢
Ne04091700876

&= 6

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80
1 DCF001 Konbuo nopiHeBoe KOMNAEKT 1 10 60280050000 WrnoT 9x14 1
2 DQF002 NopweHb 70x54 mm 1 11 DQBO005 MpoKNaaKa KpbIWKK KapTepa 1
3 60310050000 Manew nopwHs 18x54 1 12 75520020000/ LleHTpobeKHbIN perynatop 1
DPK000 o0bopoToB
4 60240110000 CronopHoe KonbLo 2 13 380650335-0001 CanbHuK 25x38x7 1
5 75460060000 LaTtyH 1 14 60050050000 Bont M8x50 8
6 CFB0O0OCO10 CanbHUK KoneHsana 25x40x7 1 15 75240150000 KpbllwKa KapTepa 1
7 521010010501 MoAWnnHUK 6205 1 16 | 25200050110 lopniosuHa Macn03anueHas B 1
KOMMJIEKTE CO LLynom
8 75510690000 KoneHsan 1 17 75250010000 Tapenika TonKaTena KnanaHa 2
9 60200180000 LWai6a 25,5x36x1 mm 1 18 75470080000 PacnpegBan 1




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM5345

Oeuratens T680 V=196 cm3 ¢
Ne04091700876

Ne ApTUKYN HanmeHoBaHue K-8o Ne ApTUKYN HanmeHoBaHue K-80
1 60060530000 Bont M6x14 4 15 | 60280020000 LWTnoT 10x16 2
2 75080030000 Hapy»KHas KpbillKa K1anaHos 1 16 | 75720110000/ MpoKnazaKa rosoBKM LMAMHAPa 1
DQB002
3 75720270000 MpoknagKa KpbilKa KnanaHos 2 17 75760130000 Tara KapbropaTopa K Ppnaxky 1
4 75080020000 BHYTPEeHHAA KPblLWKa KNanaHoB 1 18 | 75730100000/ Mpoknaaka nog kopnyc dunbTpa 1
60440190000
5 DAF004 Kopombicno KnanaHa Komnnekr 1 19 75410560000 KapbtopaTtop 1
6 75230010000 Kopombicno kKnanaHa 1 20 75730030000 MpoKknazKa nog KapbtopaTtop 1
7 75200020000 Konnayok KnanaHa 2 21 75560050000 [epxkatenb TArm 1
8 75180020000 Cyxapb KnanaHa 2 22 75730200000 Oxnaxkaatowmi nucT Kapbropatopa 1
9 60380090000 Mpy*KMHa KnanaHa 2 23 25090020000 Tennousonsatop Kapbtopatopa 1
10 60360140000 Konnavyok macnocbemHbIi 2 24 75730050000 MpoKknagka noa TenomM3onATop 1
11 F7RTC Cseuya 3aXkuraHua 1 25 60050050000 Bont M8x50 4
12 75490040000 [onoBKa umManHapa 1 26 75350020000 Tonkatenb (WTaHra) KnanaHa 2
13 75170020000 BnyckHoM KnanaH 1 27 75260020000 Hanpaenstowas Tonkatenemn 1
14 75190020000 BbINycKHOWM KnanaH 1




CrampPron

Power & force

MI'IJTI-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogens: LM5345

Osuratens T680 V=196
cm3 ¢ Ne04091700876

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80
1 25110090000 Kopnyc Bo3aywHoro ¢punbTpa 1 4 25300020000 BosgywHbiit duabTp 1
2 25020040000 HaknagKa kopnyca 1 5 25120050000 KpbiwKa BO34yLWHOro ¢punbTpa 1
3 60140020000 Faiika M6 2




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogens: LM5345

Osuratens T680 V=196
cm3 ¢ Ne04091700876

Ne ApTUKYN HanmeHoBaHue K-8o Ne ApTUKYN HanmeHoBaHue K-80
1 60150100000 lalika M6 2 4 30070420000 [atynk TemnepaTypbl raywnTens 1
2 75530090000 KpblwKa raywurena 1 5 75760140000 TAra patumka K KapbtopaTtopy 1
3 75540120000 Fnywwutens 1 6 75740080000 JINCT oxnaxkpeHus 1




CrampPron

Power & force

MI'IJTI-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogens: LM5345

Oeuratens T675 V=200 cm3
40 Ne04091700876

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80

1 25190010780 KpblwKa gsuratens 1 6 60140050000 lalika M14x1,5 1

2 75430110000 CrapTep B cbope 1 7 75210020000 CrakaH MaxoBuKa 1

3 25010020000 KorKyx maxoBuKa 1 8 25040120000 Kpblab4yaTKa MmaxoBuKa 1

4 75370040000 MarHeTo 1 9 75390040000 MaxoBuK 1

5 60080160000 Lnunbka 1 10 75380090000 BbikntoyaTtenb AsuraTens ¢ 1
MeXaHW3MOM TOPMO33




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM5345

Osuratens T675 V=200
cm? o Ne04091700876

Ne ApTUKYA HavmeHosaHue K-so Ne ApTUKYA HavmeHosaHue K-80
1 | 75720110000/ | MpoknaaKa ronoBKM LMAMHADPA 1 16 | 60440030000 KnanaH canyHa 1
DQB002

2 75500050000 KapTep 1 17 170010017-0001 TonnusHbIN GUNbTP 1
3 75030010000 Haknagka kapTtepa 1 18 60230020000 XoMyT WwnaHra 1
4 60080140000 LLnnnbKa KpenneHua ctapTepa 1 19 25160020000 TONAUBHBIN WNAHT 1
5 75100030000 KnanaH canyHa 1 20 25030030000 LWnaHr canyHa 1
6 75720150000 MpoKnaaKa KpbILWKKW canyHa 1 21 60300040000 WnanHT 1
7 75400022000 KpblwKa canyHa 1 22 75070020000 Pbluar perynstopa ob6opotos 1
8 75150010000 MacnooTparkatenb 1 23 60410540000 Mpy*KnHa 1
9 60080140000 LLnnnbKa KpenneHua ctapTepa 1 24 60410060000 Mpy*KnHa TATN 1
10 75330020000 KpoHLwTelH KpenneHuns 6aka 1 25 75360010000 KpoHLTelH pblyara 1
11 75310030000 MpaBblii KPOHLWTENH baKa 1 26 60360080000 CanbHuk Ban 6x11x4 1
12 75340030000 JleBbli KpoHWTENH HaKa 1 27 60200140000 Lanba 6,5x12x1,5 1
13 25180140000 TonnueHbI 6aK 1 28 75290020000 Ban pbluara perynatopa 1
14 25170050110 Mpobka TonanBHOro 6aka 1 29 75160020000 Tara pblyara perynsatopa 1
15 80010070000 3arnywka 1




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM5345

&= 6

Osuratens T675 V=200
cm® oo Ne04091700876

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80
1 DCF001 Komnnekr koney 70x1,5 1 10 | 60280030000 WrnoT 2
2 75120020000 MNopweHb 70x54 1 11 75720260000 MpoKnaaKa KpbIWKK KapTepa 1
3 60310020000 Manev nopwHa 16x54 1 12 DPKO0OO LleHTpobexHbli perynstop 1
obopoToB
4 60400030000 CronopHoe KonbLo 2 13 60360110000 CanbHuK KoneHsana 25x40x10 1
5 75460040000 LWaTyH 1 14 | 60050050000 Bont M8x50 8
6 60360110000 CanbHuK KoneHsana 25x40x10 1 15 75240160000 KpbllwKa KapTepa 1
7 521010010501 NoawnnHuk 6205 1 16 25200020110 MacnosannsHasa ropnoBuHa 1
8 75510660000 KoneHsan 1 17 75250010000 Tapenika TonKaTena KnanaHa 2
9 60200170000 Llan6a 25,5x36x0,7 1 18 75470040000 PacnpegBan 1




CrampPron
Power & force

MI'IJTI-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogens: LM5345

Asuratenb T675 V=200
cm?® 1o Ne04091700876

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80
1 60060530000 Bont M6x15 4 14 75190020000 BbINycKHOWM KnanaH 1
2 75080030000 Hapy»Haa KpbllWKa KnanaHoOB 1 15 60280020000 WtnoT 10x16 2
3 75720270000/ MpoKNazaKa KpbIWKKM KNanaHoOB 2 16 75720110000/ MpoKnazaKa ronoBKU LUAMHAPA 1
DNBO00O DQB002

4 75080020000 BHYTpeHHAA KpbllWKa KNanaHoOB 1 17 75730100000 Mpoknaaka nog Kopnyc ¢uabTpa 1
5 DAF004 Kopombicno Komnnekr 2 18 75410080000 KapbtopaTtop 1
6 75230010000 Kopombicno kKnanaHa 2 19 25210020110 Mpatimep 1
7 75200020000 Konnayok knanaHa 2 20 75730060000 MpoKknazKa nog KapbtopaTtop 1
8 75180020000 Cyxapb KnanaHa 2 21 25090020000 Tennousonatop 1
9 60380090000 Mpy*KMHa KnanaHa 2 22 75730050000 MpoKnazka noa Tenion30nATop 1
10 60360140000 MacnocbeMHbI KoNNayok 2 23 60050050000 Bont M8x50 4
11 F7RTC CBeya 3aXkuraHmsa 1 24 75350020000 Tonkatenb KnanaHa (WwTaHra) 1
12 75490040000 [onoBKa umManHapa 1 25 75260020000 Hanpasnstolas Tonkatenen 1
13 75170020000 BnyckHoM KnanaH 1




CrampPron
Power & force

MnnocTpnpoBaHHbI/ KaTanor 3anacHbIX YacTem Mogenb: LM5345

Asuratenb T675 V=200
cm® oo Ne04091700876

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80
1 25220010000 Kopnyc Bo3aywHoro ¢punbTpa 1 4 25300030000 OCHOBHOW BO3AYLWHbIA GUNLTP 1
2 25020010000 Haknagka kopnyca 1 5 25300010000 JononHutenbHblit dunbTp 1
3 60140020000 lalika M6 1 6 25120010000 Kpbiwka Bo3ayLwHoro ¢punbTpa 1




CrampPron
Power & force

Mﬂﬂl-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogens: LM5345

Asuratens T675 V=200
cm® no Ne04091700876

Ne ApTUKYN HanmeHoBaHue K-s8o Ne ApTUKYN HanmeHoBaHue K-80
1 60150100000 lalika M6 2 3 75540040000 Fnywwutens 1
2 75530040000 3aLWMTHAA KPbILWKa raywmtena 1 4 75740020000 MpoKnagka rywutens 1




